
𝑃𝐸𝑅𝐶𝐸𝑁𝑇𝐴𝐺𝐸



𝑪𝒐𝒏𝒗𝒆𝒓𝒕𝒊𝒏𝒈 𝒇𝒓𝒐𝒎 𝒑𝒆𝒓𝒄𝒆𝒏𝒕𝒂𝒈𝒆 𝒕𝒐 𝒅𝒆𝒄𝒊𝒎𝒂𝒍𝒔

"Percentage means parts of 100. "

57%
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100

0.57
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6.8
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0.068

49.2%

49.2

100

0.492
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1

2
%

22.5%

22.5

100

0.225



𝑪𝒐𝒏𝒗𝒆𝒓𝒕𝒊𝒏𝒈 𝒇𝒓𝒐𝒎 𝒑𝒆𝒓𝒄𝒆𝒏𝒕𝒂𝒈𝒆 𝒕𝒐 𝒇𝒓𝒂𝒄𝒕𝒊𝒐𝒏𝒔

57%

57

100

6.8%

6.8

100

6.8

100 × 10

68

1000

49.2%

49.2

100 × 10

492

1000

22
1

2
%

22.5%

22.5

100

22.5

100 × 10

225

1000



𝑪𝒐𝒏𝒗𝒆𝒓𝒕𝒊𝒏𝒈 𝒇𝒓𝒐𝒎 𝒇𝒓𝒂𝒄𝒕𝒊𝒐𝒏𝒔 𝒕𝒐 𝒑𝒆𝒓𝒄𝒆𝒏𝒕𝒂𝒈𝒆

𝑻𝒐 𝒄𝒉𝒂𝒏𝒈𝒆 𝒂 𝒇𝒓𝒂𝒄𝒕𝒊𝒐𝒏 𝒐𝒓 𝒅𝒆𝒄𝒊𝒎𝒂𝒍 𝒕𝒐 𝒂 𝒑𝒆𝒓𝒄𝒆𝒏𝒕𝒂𝒈𝒆,𝒎𝒖𝒍𝒕𝒊𝒑𝒍𝒚 𝒃𝒚 𝟏𝟎𝟎.

17

20

17

20
× 100

𝟓

17 × 5

85 %

18

50

18

50
× 100

𝟐

18 × 2

36 %

23

25

23

25
× 100

𝟒

23 × 4

92 %



𝑪𝒐𝒏𝒗𝒆𝒓𝒕𝒊𝒏𝒈 𝒇𝒓𝒐𝒎 𝒅𝒆𝒄𝒊𝒎𝒂𝒍𝒔 𝒕𝒐 𝒑𝒆𝒓𝒄𝒆𝒏𝒕𝒂𝒈𝒆

𝑻𝒐 𝒄𝒉𝒂𝒏𝒈𝒆 𝒂 𝒇𝒓𝒂𝒄𝒕𝒊𝒐𝒏 𝒐𝒓 𝒅𝒆𝒄𝒊𝒎𝒂𝒍 𝒕𝒐 𝒂 𝒑𝒆𝒓𝒄𝒆𝒏𝒕𝒂𝒈𝒆,𝒎𝒖𝒍𝒕𝒊𝒑𝒍𝒚 𝒃𝒚 𝟏𝟎𝟎.

0.57

0.57 × 100

57 %

6.8

6.8 × 100

680 %

49.2

49.2 × 100

4920 %

22
1

2

22.5%

22.5 × 100

2250 %



𝑬𝒙𝒑𝒓𝒆𝒔𝒔𝒊𝒏𝒈 𝒐𝒏𝒆 𝒒𝒖𝒂𝒏𝒕𝒊𝒕𝒚 𝒂𝒔 𝒂 𝒑𝒆𝒓𝒄𝒆𝒏𝒕𝒂𝒈𝒆
𝒐𝒇 𝒂 𝒔𝒆𝒄𝒐𝒏𝒅 𝒒𝒖𝒂𝒏𝒕𝒊𝒕𝒚

𝑾𝒓𝒊𝒕𝒆 𝟒𝟎 𝒂𝒔 𝒂 𝒑𝒆𝒓𝒄𝒆𝒏𝒕𝒂𝒈𝒆 𝒐𝒇 𝟓𝟎.

40

50
× 100

𝟖

8 × 10

80 %



𝑬𝒙𝒑𝒓𝒆𝒔𝒔𝒊𝒏𝒈 𝒐𝒏𝒆 𝒒𝒖𝒂𝒏𝒕𝒊𝒕𝒚 𝒂𝒔 𝒂 𝒑𝒆𝒓𝒄𝒆𝒏𝒕𝒂𝒈𝒆
𝒐𝒇 𝒂 𝒔𝒆𝒄𝒐𝒏𝒅 𝒒𝒖𝒂𝒏𝒕𝒊𝒕𝒚

𝑻𝒉𝒆𝒓𝒆 𝒂𝒓𝒆 𝟑𝟎 𝒔𝒕𝒖𝒅𝒆𝒏𝒕𝒔 𝒊𝒏 𝒂 𝒄𝒍𝒂𝒔𝒔. 𝑺𝒊𝒙 𝒐𝒇 𝒕𝒉𝒆 𝒔𝒕𝒖𝒅𝒆𝒏𝒕𝒔 𝒂𝒓𝒆 𝒍𝒆𝒇𝒕 − 𝒉𝒂𝒏𝒅𝒆𝒅.
𝑾𝒉𝒂𝒕 𝒑𝒆𝒓𝒄𝒆𝒏𝒕𝒂𝒈𝒆 𝒐𝒇 𝒕𝒉𝒆 𝒔𝒕𝒖𝒅𝒆𝒏𝒕𝒔 𝒂𝒓𝒆 𝒍𝒆𝒇𝒕 − 𝒉𝒂𝒏𝒅𝒆𝒅?

6

30
× 100

𝟐

6 × 10

20 %



𝑬𝒙𝒑𝒓𝒆𝒔𝒔𝒊𝒏𝒈 𝒐𝒏𝒆 𝒒𝒖𝒂𝒏𝒕𝒊𝒕𝒚 𝒂𝒔 𝒂 𝒑𝒆𝒓𝒄𝒆𝒏𝒕𝒂𝒈𝒆
𝒐𝒇 𝒂 𝒔𝒆𝒄𝒐𝒏𝒅 𝒒𝒖𝒂𝒏𝒕𝒊𝒕𝒚

𝑹𝒂𝒘𝒊𝒔𝒉 𝒕𝒐𝒐𝒌 𝟕𝟐𝒎𝒂𝒓𝒌𝒔 𝒐𝒖𝒕 𝒐𝒇 𝟖𝟎 𝒊𝒏𝒎𝒂𝒕𝒉𝒆𝒎𝒂𝒕𝒊𝒄𝒔.
𝑭𝒊𝒏𝒅 𝒉𝒊𝒔 𝒑𝒆𝒓𝒄𝒆𝒏𝒕𝒂𝒈𝒆 𝒊𝒏𝒎𝒂𝒕𝒉𝒆𝒎𝒂𝒕𝒊𝒄𝒔?

72

80
× 100

𝟗

9 × 10

90 %



𝑬𝒙𝒑𝒓𝒆𝒔𝒔𝒊𝒏𝒈 𝒐𝒏𝒆 𝒒𝒖𝒂𝒏𝒕𝒊𝒕𝒚 𝒂𝒔 𝒂 𝒑𝒆𝒓𝒄𝒆𝒏𝒕𝒂𝒈𝒆
𝒐𝒇 𝒂 𝒔𝒆𝒄𝒐𝒏𝒅 𝒒𝒖𝒂𝒏𝒕𝒊𝒕𝒚

𝑻𝒉𝒆𝒓𝒆 𝒂𝒓𝒆 𝟑𝟎 𝒔𝒕𝒖𝒅𝒆𝒏𝒕𝒔 𝒊𝒏 𝒂 𝒄𝒍𝒂𝒔𝒔. 𝑺𝒊𝒙 𝒐𝒇 𝒕𝒉𝒆 𝒔𝒕𝒖𝒅𝒆𝒏𝒕𝒔 𝒂𝒓𝒆 𝒍𝒆𝒇𝒕 − 𝒉𝒂𝒏𝒅𝒆𝒅.
𝑾𝒉𝒂𝒕 𝒑𝒆𝒓𝒄𝒆𝒏𝒕𝒂𝒈𝒆 𝒐𝒇 𝒕𝒉𝒆 𝒔𝒕𝒖𝒅𝒆𝒏𝒕𝒔 𝒂𝒓𝒆 𝒏𝒐𝒕 𝒍𝒆𝒇𝒕 − 𝒉𝒂𝒏𝒅𝒆𝒅?

𝒔𝒕𝒖𝒅𝒆𝒏𝒕𝒔 𝒘𝒉𝒐 𝒂𝒓𝒆 𝒏𝒐𝒕 𝒍𝒆𝒇𝒕 − 𝒉𝒂𝒏𝒅𝒆𝒅 = 𝟑𝟎 − 𝟔

𝒔𝒕𝒖𝒅𝒆𝒏𝒕𝒔 𝒘𝒉𝒐 𝒂𝒓𝒆 𝒏𝒐𝒕 𝒍𝒆𝒇𝒕 − 𝒉𝒂𝒏𝒅𝒆𝒅 = 𝟐𝟒
24

30
× 100

𝟖

8 × 10

80 %



𝑪𝒐𝒎𝒎𝒊𝒔𝒔𝒊𝒐𝒏
𝑹𝒂𝒋𝒖 𝒔𝒆𝒍𝒍𝒔 𝒄𝒐𝒎𝒑𝒖𝒕𝒆𝒓𝒔. 𝑳𝒂𝒔𝒕 𝒚𝒆𝒂𝒓 𝒉𝒆 𝒔𝒐𝒍𝒅 𝒄𝒐𝒎𝒑𝒖𝒕𝒆𝒓𝒔 𝒘𝒐𝒓𝒕𝒉 $𝟏𝟐𝟒 𝟓𝟖𝟎𝟎.
𝑯𝒐𝒘𝒎𝒖𝒄𝒉 𝒄𝒐𝒎𝒎𝒊𝒔𝒔𝒊𝒐𝒏 𝒅𝒊𝒅 𝒉𝒆 𝒆𝒂𝒓𝒏?

6 % of all 
sales

COMMISSION FOR 
SALESMEN:

6 % × 1245800

6

100
× 1245800

6 × 12458

$ 747480



𝑪𝒐𝒎𝒎𝒊𝒔𝒔𝒊𝒐𝒏
𝑰𝒃𝒓𝒂𝒉𝒊𝒎 𝒔𝒆𝒍𝒍𝒔 𝒂 𝒉𝒐𝒖𝒔𝒆 𝒘𝒐𝒓𝒕𝒉 𝑹𝒔. 𝟔𝟐𝟓𝟎𝟎𝟎𝟎.𝑯𝒆 𝒈𝒆𝒕𝒔 𝟐 % 𝒄𝒐𝒎𝒎𝒊𝒔𝒔𝒊𝒐𝒏 𝒕𝒐 𝒔𝒆𝒍𝒍
𝒕𝒉𝒊𝒔 𝒉𝒐𝒖𝒔𝒆.𝑯𝒐𝒘𝒎𝒖𝒄𝒉 𝒄𝒐𝒎𝒎𝒊𝒔𝒔𝒊𝒐𝒏 𝒅𝒊𝒅 𝒉𝒆 𝒆𝒂𝒓𝒏?

2 %

COMMISSION FOR 
SALESMEN:2 % × 6250000

2

100
× 6250000

2 × 62500

𝑅𝑠 125000



𝑪𝒐𝒎𝒎𝒊𝒔𝒔𝒊𝒐𝒏
𝑱𝒐𝒉𝒏 𝒔𝒐𝒍𝒅 𝒂 𝒄𝒂𝒓 𝒘𝒉𝒊𝒄𝒉 𝒘𝒂𝒔 𝒘𝒐𝒓𝒕𝒉 $ 𝟐𝟓𝟎𝟎.𝑯𝒆 𝒈𝒆𝒕𝒔 𝟕 % 𝒄𝒐𝒎𝒎𝒊𝒔𝒔𝒊𝒐𝒏 𝒕𝒐 𝒔𝒆𝒍𝒍
𝒕𝒉𝒊𝒔 𝒄𝒂𝒓.𝑯𝒐𝒘𝒎𝒖𝒄𝒉 𝒄𝒐𝒎𝒎𝒊𝒔𝒔𝒊𝒐𝒏 𝒅𝒊𝒅 𝒉𝒆 𝒆𝒂𝒓𝒏?

7 %

COMMISSION FOR 
SALESMEN:7 % × 2500

7

100
× 2500

7 × 25

$ 175



𝑰𝒏𝒄𝒓𝒆𝒂𝒔𝒆𝒅 𝒐𝒓 𝑫𝒆𝒄𝒓𝒆𝒂𝒔𝒆𝒅 𝑷𝒆𝒓𝒄𝒆𝒏𝒕𝒂𝒈𝒆

% 𝒊𝒏𝒄𝒓𝒆𝒂𝒔𝒆 =
𝒊𝒏𝒄𝒓𝒆𝒂𝒔𝒆 𝒗𝒂𝒍𝒖𝒆

𝒐𝒓𝒊𝒈𝒊𝒏𝒂𝒍 𝒗𝒂𝒍𝒖𝒆
× 𝟏𝟎𝟎 % 𝒅𝒆𝒄𝒓𝒆𝒂𝒔𝒆 =

𝒅𝒆𝒄𝒓𝒆𝒂𝒔𝒆 𝒗𝒂𝒍𝒖𝒆

𝒐𝒓𝒊𝒈𝒊𝒏𝒂𝒍 𝒗𝒂𝒍𝒖𝒆
× 𝟏𝟎𝟎

𝑱𝒐𝒉𝒏’𝒔 𝒊𝒏𝒄𝒐𝒎𝒆 𝒊𝒏𝒄𝒓𝒆𝒂𝒔𝒆𝒔 𝒇𝒓𝒐𝒎 $𝟐𝟎 𝟎𝟎𝟎 𝒂 𝒚𝒆𝒂𝒓 𝒕𝒐 $𝟐𝟑 𝟎𝟎𝟎 𝒂 𝒚𝒆𝒂𝒓. 𝑪𝒂𝒍𝒄𝒖𝒍𝒂𝒕𝒆 𝒕𝒉𝒆
𝒑𝒆𝒓𝒄𝒆𝒏𝒕𝒂𝒈𝒆 𝒊𝒏𝒄𝒓𝒆𝒂𝒔𝒆 𝒊𝒏 𝒉𝒊𝒔 𝒊𝒏𝒄𝒐𝒎𝒆.

𝒊𝒏𝒄𝒓𝒆𝒂𝒔𝒆 𝒗𝒂𝒍𝒖𝒆 = 𝟐𝟑𝟎𝟎𝟎 − 𝟐𝟎𝟎𝟎𝟎

𝒊𝒏𝒄𝒓𝒆𝒂𝒔𝒆 𝒗𝒂𝒍𝒖𝒆 = 𝟑𝟎𝟎𝟎

𝒐𝒓𝒊𝒈𝒊𝒏𝒂𝒍 𝒗𝒂𝒍𝒖𝒆 = 𝟐𝟎𝟎𝟎𝟎

% 𝒊𝒏𝒄𝒓𝒆𝒂𝒔𝒆 =
𝒊𝒏𝒄𝒓𝒆𝒂𝒔𝒆 𝒗𝒂𝒍𝒖𝒆

𝒐𝒓𝒊𝒈𝒊𝒏𝒂𝒍 𝒗𝒂𝒍𝒖𝒆
× 𝟏𝟎𝟎

% 𝒊𝒏𝒄𝒓𝒆𝒂𝒔𝒆 =
𝟑𝟎𝟎𝟎

𝟐𝟎𝟎𝟎𝟎
× 𝟏𝟎𝟎

𝟏𝟓

% 𝒊𝒏𝒄𝒓𝒆𝒂𝒔𝒆 = 𝟏𝟓%



𝑰𝒏𝒄𝒓𝒆𝒂𝒔𝒆𝒅 𝒐𝒓 𝑫𝒆𝒄𝒓𝒆𝒂𝒔𝒆𝒅 𝑷𝒆𝒓𝒄𝒆𝒏𝒕𝒂𝒈𝒆

% 𝒊𝒏𝒄𝒓𝒆𝒂𝒔𝒆 =
𝒊𝒏𝒄𝒓𝒆𝒂𝒔𝒆 𝒗𝒂𝒍𝒖𝒆

𝒐𝒓𝒊𝒈𝒊𝒏𝒂𝒍 𝒗𝒂𝒍𝒖𝒆
× 𝟏𝟎𝟎 % 𝒅𝒆𝒄𝒓𝒆𝒂𝒔𝒆 =

𝒅𝒆𝒄𝒓𝒆𝒂𝒔𝒆 𝒗𝒂𝒍𝒖𝒆

𝒐𝒓𝒊𝒈𝒊𝒏𝒂𝒍 𝒗𝒂𝒍𝒖𝒆
× 𝟏𝟎𝟎

𝑻𝒉𝒆 𝒑𝒐𝒑𝒖𝒍𝒂𝒕𝒊𝒐𝒏 𝒐𝒇 𝒂 𝒗𝒊𝒍𝒍𝒂𝒈𝒆 𝒅𝒆𝒄𝒓𝒆𝒂𝒔𝒆𝒔 𝒇𝒓𝒐𝒎 𝟕𝟎𝟎 𝒕𝒐 𝟔𝟑𝟕. 𝑪𝒂𝒍𝒄𝒖𝒍𝒂𝒕𝒆
𝒕𝒉𝒆 𝒑𝒆𝒓𝒄𝒆𝒏𝒕𝒂𝒈𝒆 𝒅𝒆𝒄𝒓𝒆𝒂𝒔𝒆 𝒊𝒏 𝒕𝒉𝒆 𝒑𝒐𝒑𝒖𝒍𝒂𝒕𝒊𝒐𝒏.

𝒅𝒆𝒄𝒓𝒆𝒂𝒔𝒆 𝒑𝒐𝒑𝒖𝒍𝒂𝒕𝒊𝒐𝒏 = 𝟕𝟎𝟎 − 𝟔𝟑𝟕

𝒅𝒆𝒄𝒓𝒆𝒂𝒔𝒆 𝒑𝒐𝒑𝒖𝒍𝒂𝒕𝒊𝒐𝒏 = 𝟔𝟑

𝒐𝒓𝒊𝒈𝒊𝒏𝒂𝒍 𝒑𝒐𝒑𝒖𝒍𝒂𝒕𝒊𝒐𝒏 = 𝟕𝟎𝟎

%𝒅𝒆𝒄𝒄𝒓𝒆𝒂𝒔𝒆 =
𝒅𝒆𝒄𝒓𝒆𝒂𝒔𝒆 𝒗𝒂𝒍𝒖𝒆

𝒐𝒓𝒊𝒈𝒊𝒏𝒂𝒍 𝒗𝒂𝒍𝒖𝒆
× 𝟏𝟎𝟎

% 𝒅𝒆𝒄𝒓𝒆𝒂𝒔𝒆 =
𝟔𝟑

𝟕𝟎𝟎
× 𝟏𝟎𝟎

𝟗

% 𝒊𝒏𝒄𝒓𝒆𝒂𝒔𝒆 = 𝟗%



𝑰𝒏𝒄𝒓𝒆𝒂𝒔𝒆𝒅 𝒐𝒓 𝑫𝒆𝒄𝒓𝒆𝒂𝒔𝒆𝒅 𝑷𝒆𝒓𝒄𝒆𝒏𝒕𝒂𝒈𝒆

% 𝒊𝒏𝒄𝒓𝒆𝒂𝒔𝒆 =
𝒊𝒏𝒄𝒓𝒆𝒂𝒔𝒆 𝒗𝒂𝒍𝒖𝒆

𝒐𝒓𝒊𝒈𝒊𝒏𝒂𝒍 𝒗𝒂𝒍𝒖𝒆
× 𝟏𝟎𝟎 % 𝒅𝒆𝒄𝒓𝒆𝒂𝒔𝒆 =

𝒅𝒆𝒄𝒓𝒆𝒂𝒔𝒆 𝒗𝒂𝒍𝒖𝒆

𝒐𝒓𝒊𝒈𝒊𝒏𝒂𝒍 𝒗𝒂𝒍𝒖𝒆
× 𝟏𝟎𝟎

𝑻𝒉𝒆 𝒘𝒆𝒊𝒈𝒉𝒕 𝒐𝒇 𝒂 𝒏𝒆𝒘 𝒃𝒐𝒓𝒏 𝒃𝒂𝒃𝒚 𝒘𝒂𝒔 𝟒 𝒌𝒈.𝑨𝒇𝒕𝒆𝒓 𝒔𝒊𝒙 𝒎𝒐𝒏𝒕𝒉 𝒊𝒕 𝒘𝒂𝒔 𝟖 𝒌𝒈.
𝑪𝒂𝒍𝒄𝒖𝒍𝒂𝒕𝒆 𝒕𝒉𝒆 𝒑𝒆𝒓𝒄𝒆𝒏𝒕𝒂𝒈𝒆 𝒊𝒏𝒄𝒓𝒆𝒂𝒔𝒆 𝒐𝒓 𝒅𝒆𝒄𝒓𝒆𝒂𝒔𝒆.

𝒊𝒏𝒄𝒓𝒆𝒂𝒔𝒆 𝒗𝒂𝒍𝒖𝒆 = 𝟖 − 𝟒

𝒊𝒏𝒄𝒓𝒆𝒂𝒔𝒆 𝒑𝒐𝒑𝒖𝒍𝒂𝒕𝒊𝒐𝒏 = 𝟒

𝒐𝒓𝒊𝒈𝒊𝒏𝒂𝒍 𝒗𝒂𝒍𝒖𝒆 = 𝟒

% 𝒊𝒏𝒄𝒄𝒓𝒆𝒂𝒔𝒆 =
𝒊𝒏𝒄𝒓𝒆𝒂𝒔𝒆 𝒗𝒂𝒍𝒖𝒆

𝒐𝒓𝒊𝒈𝒊𝒏𝒂𝒍 𝒗𝒂𝒍𝒖𝒆
× 𝟏𝟎𝟎

% 𝒊𝒏𝒄𝒓𝒆𝒂𝒔𝒆 =
𝟒

𝟒
× 𝟏𝟎𝟎

% 𝒊𝒏𝒄𝒓𝒆𝒂𝒔𝒆 = 𝟏𝟎𝟎%



𝑰𝒏𝒄𝒓𝒆𝒂𝒔𝒆𝒅 𝒐𝒓 𝑫𝒆𝒄𝒓𝒆𝒂𝒔𝒆𝒅 𝑷𝒆𝒓𝒄𝒆𝒏𝒕𝒂𝒈𝒆

𝑾𝒉𝒂𝒕 𝒘𝒐𝒖𝒍𝒅 𝒃𝒆 𝒕𝒉𝒆 𝒏𝒆𝒘 𝒘𝒂𝒈𝒆 𝒐𝒇 𝒔𝒐𝒎𝒆𝒐𝒏𝒆 𝒘𝒉𝒐 𝒑𝒓𝒆𝒔𝒆𝒏𝒕𝒍𝒚 𝒆𝒂𝒓𝒏𝒔 $𝟔𝟓𝟎 𝒂 𝒘𝒆𝒆𝒌?

100 + 10 % × 650

110

100
× 650

11 × 65

$ 715

10%

ALL WAGES TO BE 
INCREASED BY



𝑰𝒏𝒄𝒓𝒆𝒂𝒔𝒆𝒅 𝒐𝒓 𝑫𝒆𝒄𝒓𝒆𝒂𝒔𝒆𝒅 𝑷𝒆𝒓𝒄𝒆𝒏𝒕𝒂𝒈𝒆
𝑻𝒉𝒆 𝒑𝒓𝒊𝒄𝒆 𝒐𝒇 𝒂 𝒄𝒂𝒓 𝒘𝒂𝒔 𝑹𝒔. 𝟏𝟎𝟓𝟎𝟎𝟎𝟎. 𝑰𝒕 𝒘𝒂𝒔 𝒅𝒆𝒄𝒓𝒆𝒂𝒔𝒆𝒅 𝒃𝒚 𝟑𝟎%.
𝒇𝒊𝒏𝒅 𝒕𝒉𝒆 𝒅𝒆𝒄𝒓𝒆𝒂𝒔𝒆𝒅 𝒑𝒓𝒊𝒄𝒆

30%

ALL WAGES TO BE 
DECREASED BY

100 − 30 % × 1050000

70

100
× 1050000

70 × 10500

𝑅𝑠 735000



𝑰𝒏𝒄𝒓𝒆𝒂𝒔𝒆𝒅 𝒐𝒓 𝑫𝒆𝒄𝒓𝒆𝒂𝒔𝒆𝒅 𝑷𝒆𝒓𝒄𝒆𝒏𝒕𝒂𝒈𝒆
𝑯𝒆𝒍𝒆𝒏 𝒃𝒐𝒖𝒈𝒉𝒕 𝒂 𝒕𝒆𝒍𝒆𝒗𝒊𝒔𝒊𝒐𝒏 𝒘𝒉𝒊𝒄𝒉 𝒑𝒓𝒊𝒄𝒆𝒅 𝒂𝒕 $𝟕𝟎𝟎. 𝑰𝒕 𝒘𝒂𝒔 𝒊𝒏𝒄𝒓𝒆𝒂𝒔𝒆𝒅 𝒂𝒕 𝟒%.
𝑯𝒐𝒘𝒎𝒖𝒄𝒉 𝒅𝒊𝒅 𝒔𝒉𝒆 𝒑𝒂𝒚?

4%

ALL WAGES TO BE 
DECREASED BY

100 − 4 % × 700

96

100
× 700

96 × 7

$ 672



𝑷𝒓𝒐𝒇𝒊𝒕 𝒂𝒏𝒅 𝑳𝒐𝒔𝒔 𝑷𝒆𝒓𝒄𝒆𝒏𝒕𝒂𝒈𝒆

%𝑷𝒓𝒐𝒇𝒊𝒕 =
𝒑𝒓𝒐𝒇𝒊𝒕

𝒄𝒐𝒔𝒕 𝒑𝒓𝒊𝒄𝒆
× 𝟏𝟎𝟎 % 𝑳𝒐𝒔𝒔 =

𝒍𝒐𝒔𝒔

𝒄𝒐𝒔𝒕 𝒑𝒓𝒊𝒄𝒆
× 𝟏𝟎𝟎

𝑨 𝒄𝒂𝒓 𝒔𝒂𝒍𝒆𝒔𝒎𝒂𝒏 𝒃𝒖𝒚𝒔 𝒂 𝒄𝒂𝒓 𝒇𝒐𝒓 $𝟏𝟓 𝟎𝟎𝟎 𝒂𝒏𝒅 𝒔𝒆𝒍𝒍𝒔 𝒊𝒕 𝒇𝒐𝒓 $𝟏𝟖 𝟎𝟎𝟎.
𝑪𝒂𝒍𝒄𝒖𝒍𝒂𝒕𝒆 𝒕𝒉𝒆 𝒑𝒆𝒓𝒄𝒆𝒏𝒕𝒂𝒈𝒆 𝒑𝒓𝒐𝒇𝒊𝒕.

𝒄. 𝒑 = 𝟏𝟓𝟎𝟎𝟎

𝒔. 𝒑 = 𝟏𝟖𝟎𝟎𝟎

𝒑𝒓𝒐𝒇𝒊𝒕 = 𝒔𝒂𝒍𝒆 𝒑𝒓𝒊𝒄𝒆 − 𝒄𝒐𝒔𝒕 𝒑𝒓𝒊𝒄𝒆

𝒑𝒓𝒐𝒇𝒊𝒕 = 𝟏𝟖𝟎𝟎𝟎 − 𝟏𝟓𝟎𝟎𝟎

𝒑𝒓𝒐𝒇𝒊𝒕 = 𝟑𝟎𝟎𝟎

%𝑷𝒓𝒐𝒇𝒊𝒕 =
𝒑𝒓𝒐𝒇𝒊𝒕

𝒄𝒐𝒔𝒕 𝒑𝒓𝒊𝒄𝒆
× 𝟏𝟎𝟎

% 𝑷𝒓𝒐𝒇𝒊𝒕 =
𝟑𝟎𝟎𝟎

𝟏𝟓𝟎𝟎𝟎
× 𝟏𝟎𝟎

𝟐𝟎

%𝑷𝒓𝒐𝒇𝒊𝒕 = 𝟐𝟎 %



𝑷𝒓𝒐𝒇𝒊𝒕 𝒂𝒏𝒅 𝑳𝒐𝒔𝒔 𝑷𝒆𝒓𝒄𝒆𝒏𝒕𝒂𝒈𝒆

%𝑷𝒓𝒐𝒇𝒊𝒕 =
𝒑𝒓𝒐𝒇𝒊𝒕

𝒄𝒐𝒔𝒕 𝒑𝒓𝒊𝒄𝒆
× 𝟏𝟎𝟎 % 𝑳𝒐𝒔𝒔 =

𝒍𝒐𝒔𝒔

𝒄𝒐𝒔𝒕 𝒑𝒓𝒊𝒄𝒆
× 𝟏𝟎𝟎

𝑪𝒂𝒓𝒂 𝒃𝒖𝒚𝒔 𝒂 𝒃𝒊𝒌𝒆 𝒇𝒐𝒓 $𝟐𝟓𝟎 𝒂𝒏𝒅 𝒕𝒉𝒆𝒏 𝒔𝒆𝒍𝒍𝒔 𝒊𝒕 𝒐𝒏𝒆 𝒚𝒆𝒂𝒓 𝒍𝒂𝒕𝒆𝒓 𝒇𝒐𝒓 $𝟏𝟖𝟎.
𝑪𝒂𝒍𝒄𝒖𝒍𝒂𝒕𝒆 𝒕𝒉𝒆 𝒑𝒆𝒓𝒄𝒆𝒏𝒕𝒂𝒈𝒆 𝒍𝒐𝒔𝒔.

𝒄. 𝒑 = $ 𝟐𝟓𝟎

𝒔. 𝒑 = $ 𝟏𝟖𝟎

𝒍𝒐𝒔𝒔 = 𝒄. 𝒑 − 𝒔. 𝒑

𝒍𝒐𝒔𝒔 = 𝟐𝟓𝟎 − 𝟏𝟖𝟎

𝒍𝒐𝒔𝒔 = 𝟕𝟎

%𝑳𝒐𝒔𝒔 =
𝒍𝒐𝒔𝒔

𝒄𝒐𝒔𝒕 𝒑𝒓𝒊𝒄𝒆
× 𝟏𝟎𝟎

% 𝑳𝒐𝒔𝒔 =
𝟕𝟎

𝟐𝟓𝟎
× 𝟏𝟎𝟎

𝟒

% 𝑳𝒐𝒔𝒔 = 𝟕 × 𝟒

% 𝑳𝒐𝒔𝒔 = 𝟐𝟖%



𝑷𝒓𝒐𝒇𝒊𝒕 𝒂𝒏𝒅 𝑳𝒐𝒔𝒔 𝑷𝒆𝒓𝒄𝒆𝒏𝒕𝒂𝒈𝒆

%𝑷𝒓𝒐𝒇𝒊𝒕 =
𝒑𝒓𝒐𝒇𝒊𝒕

𝒄𝒐𝒔𝒕 𝒑𝒓𝒊𝒄𝒆
× 𝟏𝟎𝟎 % 𝑳𝒐𝒔𝒔 =

𝒍𝒐𝒔𝒔

𝒄𝒐𝒔𝒕 𝒑𝒓𝒊𝒄𝒆
× 𝟏𝟎𝟎

𝑻𝒉𝒆 𝑹𝒐𝒃𝒊𝒏𝒔𝒐𝒏𝒔 𝒃𝒐𝒖𝒈𝒉𝒕 𝒕𝒉𝒆𝒊𝒓 𝒉𝒐𝒖𝒔𝒆 𝒇𝒐𝒓 £𝟏𝟖𝟎 𝟎𝟎𝟎 𝒂𝒏𝒅 𝒔𝒐𝒍𝒅 𝒊𝒕 𝟑 𝒚𝒆𝒂𝒓𝒔
𝒍𝒂𝒕𝒆𝒓 𝒇𝒐𝒓 £𝟐𝟏𝟔𝟎𝟎𝟎. 𝑭𝒊𝒏𝒅 𝒕𝒉𝒆 𝒑𝒆𝒓𝒄𝒆𝒏𝒕𝒂𝒈𝒆 𝒑𝒓𝒐𝒇𝒊𝒕 𝒕𝒉𝒂𝒕 𝒕𝒉𝒆𝒚𝒎𝒂𝒅𝒆 𝒐𝒏 𝒕𝒉𝒆 𝒔𝒂𝒍𝒆

𝒄. 𝒑 = £𝟏𝟖𝟎 𝟎𝟎𝟎

𝒔. 𝒑 = £𝟐𝟏𝟔𝟎 𝟎𝟎

𝒑𝒓𝒐𝒇𝒊𝒕 = 𝒄. 𝒑 − 𝒔. 𝒑

𝒑𝒓𝒐𝒇𝒊𝒕 = 𝟐𝟏𝟔𝟎𝟎𝟎 − 𝟏𝟖𝟎𝟎𝟎𝟎

𝒑𝒓𝒐𝒇𝒊𝒕 = 𝟑𝟔𝟎𝟎𝟎

%𝑷𝒓𝒐𝒇𝒊𝒕 =
𝒑𝒓𝒐𝒇𝒊𝒕

𝒄𝒐𝒔𝒕 𝒑𝒓𝒊𝒄𝒆
× 𝟏𝟎𝟎

% 𝑷𝒓𝒐𝒇𝒊𝒕 =
𝟑𝟔𝟎𝟎𝟎

𝟏𝟖𝟎𝟎𝟎𝟎
× 𝟏𝟎𝟎

𝟐𝟎

%𝑷𝒓𝒐𝒇𝒊𝒕 = 𝟐𝟎 %



𝑷𝒓𝒐𝒇𝒊𝒕 𝒂𝒏𝒅 𝑳𝒐𝒔𝒔 𝑷𝒆𝒓𝒄𝒆𝒏𝒕𝒂𝒈𝒆

𝑨𝒍𝒊 𝒎𝒂𝒅𝒆 𝒂 𝒑𝒓𝒐𝒇𝒊𝒕 𝒐𝒇 𝟐𝟎 % 𝒕𝒐 𝒔𝒆𝒍𝒍 𝒂 𝒉𝒐𝒖𝒔𝒆 𝒂𝒕 𝑹𝒔 𝟏𝟐𝟔𝟎𝟎𝟎𝟎.
𝑾𝒉𝒂𝒕 𝒘𝒂𝒔 𝒕𝒉𝒆 𝒄𝒐𝒔𝒕 𝒐𝒇 𝒕𝒉𝒊𝒔 𝒉𝒐𝒖𝒔𝒆?

𝒔. 𝒑 = 𝑹𝒔 𝟏𝟐𝟔𝟎𝟎𝟎𝟎

𝒑𝒓𝒐𝒇𝒊𝒕 = 𝟐𝟎%

𝒍𝒆𝒕 𝒄. 𝒑 = 𝟏𝟎𝟎%

𝒔. 𝒑 = 𝟏𝟎𝟎 + 𝟐𝟎

𝒔. 𝒑 = 𝟏𝟐𝟎%

𝒄. 𝒑 𝒔. 𝒑

𝟏𝟎𝟎 𝟏𝟐𝟎

𝒙 𝟏𝟐𝟔𝟎𝟎𝟎𝟎

𝟏𝟐𝟎 𝒙 = 𝟏𝟎𝟎 × 𝟏𝟐𝟔𝟎𝟎𝟎𝟎

𝒙 = 𝟏𝟎𝟎 × 𝟏𝟐𝟔𝟎𝟎𝟎𝟎

𝟏𝟐𝟎

𝒙 = 𝑹𝒔 𝟏𝟎𝟓𝟎𝟎𝟎𝟎



𝑷𝒓𝒐𝒇𝒊𝒕 𝒂𝒏𝒅 𝑳𝒐𝒔𝒔 𝑷𝒆𝒓𝒄𝒆𝒏𝒕𝒂𝒈𝒆

𝑪𝒂𝒓𝒍𝒐𝒔 𝒃𝒖𝒚𝒔 𝒂 𝒏𝒆𝒘 𝒃𝒊𝒄𝒚𝒄𝒍𝒆. 𝑨𝒇𝒕𝒆𝒓 𝒐𝒏𝒆 𝒚𝒆𝒂𝒓 𝒉𝒆 𝒔𝒆𝒍𝒍𝒔 𝒊𝒕 𝒂𝒕 $ 𝟐𝟑𝟏.𝑯𝒆𝒎𝒂𝒌𝒆𝒔
𝒂 𝒍𝒐𝒔𝒔 𝒐𝒇 𝟒𝟎 % 𝒐𝒏 𝒕𝒉𝒆 𝒔𝒂𝒍𝒆 𝒑𝒓𝒊𝒄𝒆 𝒉𝒆 𝒑𝒂𝒊𝒅. 𝑭𝒊𝒏𝒅 𝒕𝒉𝒆 𝒑𝒓𝒊𝒄𝒆 𝑪𝒂𝒓𝒍𝒐𝒔 𝒑𝒂𝒊𝒅 𝒇𝒐𝒓 𝒕𝒉𝒆 𝒃𝒊𝒄𝒚𝒄𝒍𝒆?

𝒔. 𝒑 = $ 𝟐𝟑𝟏

𝒍𝒐𝒔𝒔 = 𝟒𝟎%

𝒍𝒆𝒕 𝒄. 𝒑 = 𝟏𝟎𝟎%

𝒔. 𝒑 = 𝟏𝟎𝟎 − 𝟒𝟎

𝒔. 𝒑 = 𝟔𝟎%

𝒄. 𝒑 𝒔. 𝒑

𝟏𝟎𝟎 𝟔𝟎

𝒙 𝟐𝟑𝟏

𝟔𝟎 𝒙 = 𝟏𝟎𝟎 × 𝟐𝟑𝟏

𝒙 = 𝟏𝟎𝟎 × 𝟐𝟑𝟏

𝟔𝟎

𝒙 = $ 𝟑𝟖𝟓



𝑷𝒓𝒐𝒇𝒊𝒕 𝒂𝒏𝒅 𝑳𝒐𝒔𝒔 𝑷𝒆𝒓𝒄𝒆𝒏𝒕𝒂𝒈𝒆

𝑻𝒉𝒆 𝒄𝒐𝒔𝒕 𝒐𝒇 𝒂 𝒃𝒊𝒌𝒆 𝒊𝒔 $ 𝟏𝟔𝟐𝟎. 𝑻𝒉𝒆 𝒔𝒉𝒐𝒑𝒌𝒆𝒆𝒑𝒆𝒓 𝒔𝒆𝒍𝒍𝒔 𝒊𝒕 𝒂𝒏𝒅𝒎𝒂𝒌𝒆𝒔 𝒂 𝒑𝒓𝒐𝒇𝒊𝒕 𝒐𝒇 𝟒𝟓 %.
𝑪𝒂𝒍𝒄𝒖𝒍𝒂𝒕𝒆 𝒕𝒉𝒆 𝒔𝒆𝒍𝒍𝒊𝒏𝒈 𝒑𝒓𝒊𝒄𝒆?

𝒄. 𝒑 = $ 𝟏𝟔𝟐𝟎

𝒍𝒐𝒔𝒔 = 𝟒𝟓%

𝒍𝒆𝒕 𝒄. 𝒑 = 𝟏𝟎𝟎%

𝒔. 𝒑 = 𝟏𝟎𝟎 + 𝟒𝟓

𝒔. 𝒑 = 𝟏𝟒𝟓%

𝒄. 𝒑 𝒔. 𝒑

𝟏𝟎𝟎 𝟏𝟒𝟓

𝟏𝟔𝟐𝟎 𝒙

𝟏𝟎𝟎 𝒙 = 𝟏𝟒𝟓 × 𝟏𝟔𝟐𝟎

𝒙 = 𝟏𝟒𝟓 × 𝟏𝟔𝟐𝟎

𝟏𝟎𝟎

𝒙 = $ 𝟐𝟑𝟒𝟗



𝑷𝒓𝒐𝒇𝒊𝒕 𝒂𝒏𝒅 𝑳𝒐𝒔𝒔 𝑷𝒆𝒓𝒄𝒆𝒏𝒕𝒂𝒈𝒆

𝑻𝒉𝒆 𝒄𝒐𝒔𝒕 𝒐𝒇 𝒂 𝒕𝒆𝒍𝒆𝒗𝒊𝒔𝒊𝒐𝒏 𝒘𝒂𝒔 𝒂𝒕 𝟑𝟓𝟎. 𝑰𝒕 𝒘𝒂𝒔 𝒔𝒐𝒍𝒅 𝒃𝒚 𝟑𝟎% 𝒍𝒐𝒔𝒔.
𝑪𝒂𝒍𝒄𝒖𝒍𝒂𝒕𝒆 𝒕𝒉𝒆 𝒔𝒆𝒍𝒍𝒊𝒏𝒈 𝒑𝒓𝒊𝒄𝒆?

𝒄. 𝒑 = $ 𝟑𝟓𝟎

𝒍𝒐𝒔𝒔 = 𝟑𝟎%

𝒍𝒆𝒕 𝒄. 𝒑 = 𝟏𝟎𝟎%

𝒔. 𝒑 = 𝟏𝟎𝟎 − 𝟑𝟎

𝒔. 𝒑 = 𝟕𝟎%

𝒄. 𝒑 𝒔. 𝒑

𝟏𝟎𝟎 𝟕𝟎

𝟑𝟓𝟎 𝒙

𝟏𝟎𝟎 𝒙 = 𝟕𝟎 × 𝟑𝟓𝟎

𝒙 =
𝟕𝟎 × 𝟑𝟓𝟎

𝟏𝟎𝟎

𝒙 = $ 𝟐𝟒𝟓



𝑴𝒂𝒓𝒌𝒆𝒅 𝑷𝒓𝒊𝒄𝒆 𝒂𝒏𝒅 𝑫𝒊𝒔𝒄𝒐𝒖𝒏𝒕 𝑷𝒆𝒓𝒄𝒆𝒏𝒕𝒂𝒈𝒆

%𝒅𝒊𝒔𝒄𝒐𝒖𝒏𝒕 =
𝒅𝒊𝒔𝒄𝒐𝒖𝒏𝒕

𝒎𝒂𝒓𝒌𝒆𝒅 𝒑𝒓𝒊𝒄𝒆
× 𝟏𝟎𝟎

𝑻𝒉𝒆𝒎𝒂𝒓𝒌𝒆𝒅 𝒑𝒓𝒊𝒄𝒆 𝒐𝒏 𝒂 𝒄𝒂𝒍𝒄𝒖𝒍𝒂𝒕𝒐𝒓 𝒊𝒔 $ 𝟑𝟎. 𝑪𝒂𝒍𝒄𝒖𝒍𝒂𝒕𝒆 𝒕𝒉𝒆 𝒅𝒊𝒔𝒄𝒐𝒖𝒏𝒕 𝒑𝒆𝒓𝒄𝒆𝒏𝒕𝒂𝒈𝒆
𝒘𝒉𝒆𝒏 𝒕𝒉𝒆 𝒔𝒂𝒍𝒆 𝒑𝒓𝒊𝒄𝒆 𝒊𝒔 $ 𝟐𝟒.

𝒎.𝒑 = $ 𝟑𝟎

𝒔. 𝒑 = $ 𝟐𝟒

𝒅𝒊𝒔𝒄𝒐𝒖𝒏𝒕 = 𝒎.𝒑 − 𝒔. 𝒑

𝒅𝒊𝒔𝒄𝒐𝒖𝒏𝒕 = 𝟑𝟎 − 𝟐𝟒

𝒅𝒊𝒔𝒄𝒐𝒖𝒏𝒕 = $ 𝟔

%𝒅𝒊𝒔𝒄𝒐𝒖𝒏𝒕 =
𝒅𝒊𝒔𝒄𝒐𝒖𝒏𝒕

𝒎𝒂𝒓𝒌𝒆𝒅 𝒑𝒓𝒊𝒄𝒆
× 𝟏𝟎𝟎

% 𝒅𝒊𝒔𝒄𝒐𝒖𝒏𝒕 =
𝟔

𝟑𝟎
× 𝟏𝟎𝟎

𝟐

%𝒅𝒊𝒔𝒄𝒐𝒖𝒏𝒕 = 𝟐 × 𝟏𝟎

%𝒅𝒊𝒔𝒄𝒐𝒖𝒏𝒕 = 𝟐𝟎%



𝑴𝒂𝒓𝒌𝒆𝒅 𝑷𝒓𝒊𝒄𝒆 𝒂𝒏𝒅 𝑫𝒊𝒔𝒄𝒐𝒖𝒏𝒕 𝑷𝒆𝒓𝒄𝒆𝒏𝒕𝒂𝒈𝒆

%𝒅𝒊𝒔𝒄𝒐𝒖𝒏𝒕 =
𝒅𝒊𝒔𝒄𝒐𝒖𝒏𝒕

𝒎𝒂𝒓𝒌𝒆𝒅 𝒑𝒓𝒊𝒄𝒆
× 𝟏𝟎𝟎

𝑻𝒉𝒆𝒎𝒂𝒓𝒌𝒆𝒅 𝒑𝒓𝒊𝒄𝒆 𝒐𝒏 𝒂 𝑪𝒊𝒕𝒚 𝒃𝒊𝒌𝒆 𝒊𝒔 $ 𝟒𝟓𝟎. 𝑪𝒂𝒍𝒄𝒖𝒍𝒂𝒕𝒆 𝒕𝒉𝒆 𝒅𝒊𝒔𝒄𝒐𝒖𝒏𝒕 𝒑𝒆𝒓𝒄𝒆𝒏𝒕𝒂𝒈𝒆
𝒘𝒉𝒆𝒏 𝒕𝒉𝒆 𝒔𝒂𝒍𝒆 𝒑𝒓𝒊𝒄𝒆 𝒊𝒔 $ 𝟒𝟎𝟎.

𝒎.𝒑 = $ 𝟒𝟓𝟎

𝒔. 𝒑 = $ 𝟒𝟎𝟎

𝒅𝒊𝒔𝒄𝒐𝒖𝒏𝒕 = 𝒎.𝒑 − 𝒔. 𝒑

𝒅𝒊𝒔𝒄𝒐𝒖𝒏𝒕 = 𝟒𝟓𝟎 − 𝟒𝟎𝟎

𝒅𝒊𝒔𝒄𝒐𝒖𝒏𝒕 = $ 𝟓𝟎

%𝒅𝒊𝒔𝒄𝒐𝒖𝒏𝒕 =
𝒅𝒊𝒔𝒄𝒄𝒐𝒖𝒏𝒕

𝒎𝒂𝒓𝒌𝒆𝒅 𝒑𝒓𝒊𝒄𝒆
× 𝟏𝟎𝟎

% 𝒅𝒊𝒔𝒄𝒐𝒖𝒏𝒕 =
𝟓𝟎

𝟒𝟎𝟎
× 𝟏𝟎𝟎

% 𝒅𝒊𝒔𝒄𝒐𝒖𝒏𝒕 =
𝟓𝟎

𝟒

% 𝒅𝒊𝒔𝒄𝒐𝒖𝒏𝒕 = 𝟏𝟐. 𝟓%



𝑴𝒂𝒓𝒌𝒆𝒅 𝑷𝒓𝒊𝒄𝒆 𝒂𝒏𝒅 𝑫𝒊𝒔𝒄𝒐𝒖𝒏𝒕 𝑷𝒆𝒓𝒄𝒆𝒏𝒕𝒂𝒈𝒆

𝑻𝒉𝒆𝒎𝒂𝒓𝒌𝒆𝒅 𝒑𝒓𝒊𝒄𝒆 𝒐𝒏 𝒂 𝒄𝒂𝒍𝒄𝒖𝒍𝒂𝒕𝒐𝒓 𝒊𝒔 $𝟑𝟎. 𝑪𝒂𝒍𝒄𝒖𝒍𝒂𝒕𝒆 𝒕𝒉𝒆 𝒔𝒂𝒍𝒆 𝒑𝒓𝒊𝒄𝒆 𝒐𝒇
𝒕𝒉𝒆 𝒄𝒂𝒍𝒄𝒖𝒍𝒂𝒕𝒐𝒓 𝒘𝒉𝒆𝒏 𝟐𝟎% 𝒅𝒊𝒔𝒄𝒐𝒖𝒏𝒕 𝒊𝒔 𝒈𝒊𝒗𝒆𝒏 .

𝒎.𝒑 = $ 𝟑𝟎

𝒅𝒊𝒄𝒐𝒖𝒏𝒕 = 𝟐𝟎%

𝒍𝒆𝒕 𝒎.𝒑 = 𝟏𝟎𝟎%

𝒔. 𝒑 = 𝟏𝟎𝟎 − 𝟐𝟎

𝒔. 𝒑 = 𝟖𝟎%

𝒎.𝒑 𝒔. 𝒑

𝟏𝟎𝟎 𝟖𝟎

𝟑𝟎 𝒙

𝟏𝟎𝟎 𝒙 = 𝟖𝟎 × 𝟑𝟎

𝒙 =
𝟖𝟎 × 𝟑𝟎

𝟏𝟎𝟎

𝒙 = $ 𝟐𝟒



𝑴𝒂𝒓𝒌𝒆𝒅 𝑷𝒓𝒊𝒄𝒆 𝒂𝒏𝒅 𝑫𝒊𝒔𝒄𝒐𝒖𝒏𝒕 𝑷𝒆𝒓𝒄𝒆𝒏𝒕𝒂𝒈𝒆

𝑨 𝒄𝒂𝒓 𝒊𝒔 𝒑𝒓𝒊𝒄𝒆𝒅 𝒂𝒕 $𝟓𝟔𝟎𝟎.𝑯𝒆𝒍𝒆𝒏 𝒑𝒂𝒚𝒔 𝒄𝒂𝒔𝒉 𝒇𝒐𝒓 𝒕𝒉𝒆 𝒄𝒂𝒓 𝒂𝒏𝒅 𝒓𝒆𝒄𝒆𝒊𝒗𝒆𝒔 𝒂 𝟏𝟎% 𝒄𝒂𝒔𝒉
𝒅𝒊𝒔𝒄𝒐𝒖𝒏𝒕. 𝑯𝒐𝒘𝒎𝒖𝒄𝒉 𝒅𝒐𝒆𝒔 𝒔𝒉𝒆 𝒑𝒂𝒚?

𝒎. 𝒑 = $ 𝟓𝟔𝟎𝟎

𝒅𝒊𝒄𝒐𝒖𝒏𝒕 = 𝟏𝟎%

𝒍𝒆𝒕 𝒎.𝒑 = 𝟏𝟎𝟎%

𝒔. 𝒑 = 𝟏𝟎𝟎 − 𝟏𝟎

𝒔. 𝒑 = 𝟗𝟎%

𝒎.𝒑 𝒔. 𝒑

𝟏𝟎𝟎 𝟗𝟎

𝟓𝟔𝟎𝟎 𝒙

𝟏𝟎𝟎 𝒙 =𝟗𝟎 × 𝟓𝟔𝟎𝟎

𝒙 =
𝟗𝟎 × 𝟓𝟔𝟎𝟎

𝟏𝟎𝟎

𝒙 = $ 𝟓𝟎𝟒𝟎



𝑴𝒂𝒓𝒌𝒆𝒅 𝑷𝒓𝒊𝒄𝒆 𝒂𝒏𝒅 𝑫𝒊𝒔𝒄𝒐𝒖𝒏𝒕 𝑷𝒆𝒓𝒄𝒆𝒏𝒕𝒂𝒈𝒆

𝑻𝒉𝒆 𝒔𝒂𝒍𝒆 𝒑𝒓𝒊𝒄𝒆 𝒐𝒇 𝒂𝒎𝒐𝒃𝒊𝒍𝒆 𝒑𝒉𝒐𝒏𝒆 𝒊𝒔 𝑹𝒔 𝟐𝟓𝟎𝟎𝟎. 𝑪𝒂𝒍𝒄𝒖𝒍𝒂𝒕𝒆 𝒕𝒉𝒆𝒎𝒂𝒓𝒌𝒆𝒅 𝒑𝒓𝒊𝒄𝒆 𝒐𝒇
𝒕𝒉𝒆 𝒎𝒐𝒃𝒊𝒍𝒆 𝒑𝒉𝒐𝒏𝒆 𝒘𝒉𝒆𝒏 𝟏𝟓% 𝒅𝒊𝒔𝒄𝒐𝒖𝒏𝒕 𝒊𝒔 𝒈𝒊𝒗𝒆𝒏 .

𝒔. 𝒑 = $ 𝟐𝟓𝟎𝟎𝟎

𝒅𝒊𝒄𝒐𝒖𝒏𝒕 = 𝟏𝟓%

𝒍𝒆𝒕 𝒎.𝒑 = 𝟏𝟎𝟎%

𝒔. 𝒑 = 𝟏𝟎𝟎 − 𝟏𝟓

𝒔. 𝒑 = 𝟖𝟓%

𝒎.𝒑 𝒔. 𝒑

𝟏𝟎𝟎 𝟖𝟓

𝒙 𝟐𝟓𝟎𝟎𝟎

𝟖𝟓𝒙 =𝟏𝟎𝟎 × 𝟐𝟓𝟎𝟎𝟎

𝒙 =
𝟏𝟎𝟎 × 𝟐𝟓𝟎𝟎𝟎

𝟖𝟓

𝒙 =$ 𝟐𝟗𝟒𝟏𝟐



𝑴𝒂𝒓𝒌𝒆𝒅 𝑷𝒓𝒊𝒄𝒆 𝒂𝒏𝒅 𝑫𝒊𝒔𝒄𝒐𝒖𝒏𝒕 𝑷𝒆𝒓𝒄𝒆𝒏𝒕𝒂𝒈𝒆

𝑨 𝒔𝒉𝒊𝒓𝒕 𝒉𝒂𝒔 𝒔𝒂𝒍𝒆 𝒑𝒓𝒊𝒄𝒆 $ 𝟏𝟐𝟎. 𝑪𝒂𝒍𝒄𝒖𝒍𝒂𝒕𝒆 𝒕𝒉𝒆𝒎𝒂𝒓𝒌𝒆𝒅 𝒑𝒓𝒊𝒄𝒆 𝒐𝒇 𝒂 𝒔𝒉𝒊𝒓𝒕 𝒘𝒉𝒆𝒏 𝟏𝟖%
𝒅𝒊𝒔𝒄𝒐𝒖𝒏𝒕 𝒊𝒔 𝒈𝒊𝒗𝒆𝒏 .

𝒔. 𝒑 = $ 𝟏𝟐𝟎

𝒅𝒊𝒄𝒐𝒖𝒏𝒕 = 𝟏𝟖%

𝒍𝒆𝒕 𝒎.𝒑 = 𝟏𝟎𝟎%

𝒔. 𝒑 = 𝟏𝟎𝟎 − 𝟏𝟖

𝒔. 𝒑 = 𝟖𝟐%

𝒎.𝒑 𝒔. 𝒑

𝟏𝟎𝟎 𝟖𝟐

𝒙 𝟏𝟐𝟎

𝟖𝟐 𝒙 = 𝟏𝟎𝟎 × 𝟏𝟐𝟎

𝒙 =
𝟏𝟎𝟎 × 𝟏𝟐𝟎

𝟖𝟐

𝒙 =$ 𝟏𝟒𝟔. 𝟑



𝑹𝒆𝒗𝒆𝒓𝒔𝒆 𝑷𝒆𝒓𝒄𝒆𝒏𝒕𝒂𝒈𝒆

𝑻𝒉𝒆 𝒑𝒓𝒊𝒄𝒆 𝒐𝒇 𝒂 𝒉𝒐𝒖𝒔𝒆 𝒘𝒂𝒔 𝒓𝒆𝒅𝒖𝒄𝒆𝒅 𝒃𝒚 𝟏𝟐% 𝒂𝒏𝒅 𝒏𝒐𝒘 𝒊𝒕𝒔 𝒑𝒓𝒊𝒄𝒆 𝒊𝒔 $ 𝟐𝟐𝟕𝟎𝟒𝟎.
𝑭𝒊𝒏𝒅 𝒕𝒉𝒆 𝒐𝒓𝒊𝒈𝒊𝒏𝒂𝒍 𝒑𝒓𝒊𝒄𝒆 𝒐𝒇 𝒕𝒉𝒆 𝒉𝒐𝒖𝒔𝒆.

𝑯𝑶𝑼𝑺𝑬 𝑭𝑶𝑹 𝑺𝑨𝑳𝑬

𝑷𝒓𝒊𝒄𝒆 𝒓𝒆𝒅𝒖𝒄𝒆𝒅 𝒃𝒚 𝟏𝟐%.
𝑵𝒐𝒘 $𝟐𝟐𝟕 𝟎𝟒𝟎.

𝟏𝟎𝟎% − 𝟏𝟐%

𝟖𝟖%

𝟖𝟖

𝟏𝟎𝟎

𝟎. 𝟖𝟖

𝒐𝒓𝒊𝒈𝒊𝒏𝒂𝒍 𝒑𝒓𝒊𝒄𝒆 =
𝒏𝒆𝒘 𝒑𝒓𝒊𝒄𝒆

% 𝒂𝒇𝒕𝒆𝒓 𝒓𝒆𝒅𝒖𝒄𝒕𝒊𝒐𝒏

𝒐𝒓𝒊𝒈𝒊𝒏𝒂𝒍 𝒑𝒓𝒊𝒄𝒆 =
𝟐𝟐𝟕𝟎𝟒𝟎

𝟎. 𝟖𝟖

𝒐𝒓𝒊𝒈𝒊𝒏𝒂𝒍 𝒑𝒓𝒊𝒄𝒆 = $ 𝟐𝟓𝟖𝟎𝟎𝟎



𝑹𝒆𝒗𝒆𝒓𝒔𝒆 𝑷𝒆𝒓𝒄𝒆𝒏𝒕𝒂𝒈𝒆

𝑻𝒉𝒆 𝒑𝒓𝒊𝒄𝒆 𝒐𝒇 𝒂 𝒄𝒂𝒓 𝒂𝒇𝒕𝒆𝒓 𝒇𝒊𝒓𝒔𝒕 𝒚𝒆𝒂𝒓 𝒘𝒂𝒔$ 𝟏𝟔𝟒𝟎𝟎. 𝑰𝒕 𝒘𝒂𝒔 𝒅𝒆𝒑𝒓𝒆𝒄𝒊𝒂𝒕𝒆𝒅 𝒃𝒚 𝟏𝟖%
𝒊𝒏 𝒕𝒉𝒆 𝒇𝒊𝒓𝒔𝒕 𝒚𝒆𝒂𝒓. 𝑭𝒊𝒏𝒅 𝒕𝒉𝒆 𝒐𝒓𝒊𝒈𝒊𝒏𝒂𝒍 𝒗𝒂𝒍𝒖𝒆 𝒐𝒇 𝒕𝒉𝒆 𝒄𝒂𝒓.

𝑪𝒂𝒓 𝒅𝒆𝒑𝒓𝒆𝒄𝒊𝒂𝒕𝒆𝒅 𝒃𝒚
𝟏𝟖% 𝒊𝒏 𝒕𝒉𝒆 𝒇𝒊𝒓𝒔𝒕 𝒚𝒆𝒂𝒓.

𝑽𝒂𝒍𝒖𝒆 𝒂𝒇𝒕𝒆𝒓 𝒇𝒊𝒓𝒔𝒕 𝒚𝒆𝒂𝒓
= $𝟏𝟔 𝟒𝟎𝟎𝟏𝟎𝟎% − 𝟏𝟖%

𝟖𝟐%

𝟖𝟐

𝟏𝟎𝟎

𝟎. 𝟖𝟐

𝒐𝒓𝒊𝒈𝒊𝒏𝒂𝒍 𝒑𝒓𝒊𝒄𝒆 =
𝒏𝒆𝒘 𝒑𝒓𝒊𝒄𝒆

% 𝒂𝒇𝒕𝒆𝒓 𝒓𝒆𝒅𝒖𝒄𝒕𝒊𝒐𝒏

𝒐𝒓𝒊𝒈𝒊𝒏𝒂𝒍 𝒑𝒓𝒊𝒄𝒆 =
𝟏𝟔𝟒𝟎𝟎

𝟎. 𝟖𝟐

𝒐𝒓𝒊𝒈𝒊𝒏𝒂𝒍 𝒑𝒓𝒊𝒄𝒆 = $ 𝟐𝟎𝟎𝟎𝟎



𝑹𝒆𝒗𝒆𝒓𝒔𝒆 𝑷𝒆𝒓𝒄𝒆𝒏𝒕𝒂𝒈𝒆

𝑻𝒉𝒆 𝒑𝒍𝒂𝒏𝒕 𝒊𝒏𝒄𝒓𝒆𝒂𝒔𝒆𝒔 𝒊𝒏 𝒉𝒆𝒊𝒈𝒉𝒕 𝒃𝒚 𝟒% 𝒊𝒏 𝒐𝒏𝒆 𝒅𝒂𝒚. 𝑰𝒕 𝒏𝒐𝒘 𝒉𝒂𝒔 𝒂 𝒉𝒆𝒊𝒈𝒉𝒕 𝟒𝟏. 𝟔 𝒄𝒎.
𝑭𝒊𝒏𝒅 𝒕𝒉𝒆 𝒉𝒆𝒊𝒈𝒉𝒕 𝒐𝒇 𝒕𝒉𝒆 𝒑𝒍𝒂𝒏𝒕 𝒚𝒆𝒔𝒕𝒆𝒓𝒅𝒂𝒚.

𝑷𝒍𝒂𝒏𝒕 𝒊𝒏𝒄𝒓𝒆𝒂𝒔𝒆𝒔
𝒊𝒏 𝒉𝒆𝒊𝒈𝒉𝒕 𝒃𝒚
𝟒% 𝒊𝒏 𝒐𝒏𝒆 𝒅𝒂𝒚.

𝑰𝒕 𝒏𝒐𝒘 𝒉𝒂𝒔 𝒂
𝒉𝒆𝒊𝒈𝒉𝒕 𝒐𝒇
𝟒𝟏. 𝟔 𝒄𝒎.

𝟏𝟎𝟎%+ 𝟒%

𝟏𝟎𝟒%

𝟏𝟎𝟒

𝟏𝟎𝟎

𝟏. 𝟎𝟒

𝒐𝒓𝒊𝒈𝒊𝒏𝒂𝒍 𝒉𝒆𝒊𝒈𝒉𝒕 =
𝒏𝒆𝒘 𝒉𝒆𝒊𝒈𝒉𝒕

% 𝒂𝒇𝒕𝒆𝒓 𝒊𝒏𝒄𝒓𝒆𝒂𝒔𝒆𝒅

𝒐𝒓𝒊𝒈𝒊𝒏𝒂𝒍 𝒉𝒆𝒊𝒈𝒉𝒕 =
𝟒𝟏. 𝟔

𝟏. 𝟎𝟒

𝒐𝒓𝒊𝒈𝒊𝒏𝒂𝒍 𝒉𝒆𝒊𝒈𝒉𝒕 = 𝟒𝟎 𝒄𝒎



𝑹𝒆𝒗𝒆𝒓𝒔𝒆 𝑷𝒆𝒓𝒄𝒆𝒏𝒕𝒂𝒈𝒆

𝑻𝒉𝒆 𝒑𝒐𝒑𝒖𝒍𝒂𝒕𝒊𝒐𝒏 𝒐𝒇 𝒂𝒏 𝑰𝒔𝒍𝒂𝒏𝒅 𝒘𝒂𝒔 𝟓𝟎𝟎𝟎𝟎 𝒊𝒏 𝟐𝟎𝟏𝟓. 𝑰𝒕 𝒘𝒂𝒔 𝟐𝟓%𝒎𝒐𝒓𝒆 𝒕𝒉𝒂𝒏 𝒊𝒏 𝟐𝟎𝟏𝟎.
𝑭𝒊𝒏𝒅 𝒕𝒉𝒆 𝒑𝒐𝒑𝒖𝒍𝒂𝒕𝒊𝒐𝒏 𝒊𝒏 𝟐𝟎𝟏𝟎.

𝟏𝟎𝟎 %+ 𝟐𝟓%

𝟏𝟐𝟓%

𝟏𝟐𝟓

𝟏𝟎𝟎

𝟏. 𝟐𝟓

𝒑𝒐𝒑𝒖𝒍𝒂𝒕𝒊𝒐𝒏 𝒊𝒏 𝟐𝟎𝟏𝟎 =
𝒑𝒐𝒑𝒖𝒍𝒂𝒕𝒊𝒐𝒏 𝒊𝒏 𝟐𝟎𝟏𝟓

%𝒂𝒇𝒕𝒆𝒓 𝒊𝒏𝒄𝒓𝒆𝒂𝒔𝒆𝒅

𝒑𝒐𝒑𝒖𝒍𝒂𝒕𝒊𝒐𝒏 𝒊𝒏 𝟐𝟎𝟏𝟎 =
𝟓𝟎𝟎𝟎𝟎

𝟏. 𝟐𝟓

𝒑𝒐𝒑𝒖𝒍𝒂𝒕𝒊𝒐𝒏 𝒊𝒏 𝟐𝟎𝟏𝟎 = 𝟒𝟎𝟎𝟎𝟎



𝑹𝒆𝒗𝒆𝒓𝒔𝒆 𝑷𝒆𝒓𝒄𝒆𝒏𝒕𝒂𝒈𝒆

𝑻𝒉𝒆 𝒑𝒐𝒑𝒖𝒍𝒂𝒕𝒊𝒐𝒏 𝒐𝒇 𝒂𝒏 𝑰𝒔𝒍𝒂𝒏𝒅 𝒘𝒂𝒔 𝟓𝟎𝟎𝟎𝟎 𝒊𝒏 𝟐𝟎𝟏𝟓. 𝑰𝒕 𝒘𝒂𝒔 𝟐𝟓%𝒎𝒐𝒓𝒆 𝒕𝒉𝒂𝒏 𝒊𝒏 𝟐𝟎𝟏𝟎.
𝑭𝒊𝒏𝒅 𝒕𝒉𝒆 𝒑𝒐𝒑𝒖𝒍𝒂𝒕𝒊𝒐𝒏 𝒊𝒏 𝟐𝟎𝟏𝟎.

𝟏𝟎𝟎 %+ 𝟐𝟓%

𝟏𝟐𝟓%

𝟏𝟐𝟓

𝟏𝟎𝟎

𝟏. 𝟐𝟓

𝒑𝒐𝒑𝒖𝒍𝒂𝒕𝒊𝒐𝒏 𝒊𝒏 𝟐𝟎𝟏𝟎 =
𝒑𝒐𝒑𝒖𝒍𝒂𝒕𝒊𝒐𝒏 𝒊𝒏 𝟐𝟎𝟏𝟓

%𝒂𝒇𝒕𝒆𝒓 𝒊𝒏𝒄𝒓𝒆𝒂𝒔𝒆𝒅

𝒑𝒐𝒑𝒖𝒍𝒂𝒕𝒊𝒐𝒏 𝒊𝒏 𝟐𝟎𝟏𝟎 =
𝟓𝟎𝟎𝟎𝟎

𝟏. 𝟐𝟓

𝒑𝒐𝒑𝒖𝒍𝒂𝒕𝒊𝒐𝒏 𝒊𝒏 𝟐𝟎𝟏𝟎 = 𝟒𝟎𝟎𝟎𝟎



𝑺𝒊𝒎𝒑𝒍𝒆 𝑰𝒏𝒕𝒆𝒓𝒆𝒔𝒕

𝒔𝒊𝒎𝒑𝒍𝒆 𝒊𝒏𝒕𝒆𝒓𝒆𝒔𝒕 =
𝑷𝒓𝒊𝒏𝒄𝒊𝒑𝒂𝒍 × 𝑹𝒂𝒕𝒆 × 𝑻𝒊𝒎𝒆

𝟏𝟎𝟎
𝑶𝑹

𝑻𝒐 𝒃𝒖𝒚 𝒂 𝒍𝒂𝒑𝒕𝒐𝒑 𝒄𝒐𝒎𝒑𝒖𝒕𝒆𝒓, 𝑨𝒍𝒊𝒄𝒆 𝒃𝒐𝒓𝒓𝒐𝒘𝒆𝒅 $𝟐, 𝟎𝟎𝟎 𝒇𝒐𝒓 𝟑 𝒚𝒆𝒂𝒓𝒔 𝒂𝒕 𝒂𝒏 𝒂𝒏𝒏𝒖𝒂𝒍 𝒔𝒊𝒎𝒑𝒍𝒆 𝒊𝒏𝒕𝒆𝒓𝒆𝒔𝒕
𝒓𝒂𝒕𝒆 𝒐𝒇 𝟓%.𝑯𝒐𝒘𝒎𝒖𝒄𝒉 𝒊𝒏𝒕𝒆𝒓𝒆𝒔𝒕 𝒘𝒊𝒍𝒍 𝒔𝒉𝒆 𝒑𝒂𝒚 𝒊𝒇 𝒔𝒉𝒆 𝒑𝒂𝒚𝒔 𝒕𝒉𝒆 𝒆𝒏𝒕𝒊𝒓𝒆 𝒍𝒐𝒂𝒏 𝒐𝒇𝒇 𝒂𝒕 𝒕𝒉𝒆 𝒆𝒏𝒅 𝒐𝒇 𝒕𝒉𝒆
𝒕𝒉𝒊𝒓𝒅 𝒚𝒆𝒂𝒓? 𝑾𝒉𝒂𝒕 𝒊𝒔 𝒕𝒉𝒆 𝒕𝒐𝒕𝒂𝒍 𝒂𝒎𝒐𝒖𝒏𝒕 𝒕𝒉𝒂𝒕 𝒔𝒉𝒆 𝒘𝒊𝒍𝒍 𝒓𝒆𝒑𝒂𝒚?

𝒕𝒐𝒕𝒂𝒍 𝒂𝒎𝒐𝒖𝒏𝒕 = 𝒑𝒓𝒊𝒏𝒄𝒊𝒑𝒂𝒍 + 𝒊𝒏𝒕𝒆𝒓𝒆𝒔𝒕 𝑶𝑹 𝒕𝒐𝒕𝒂𝒍 𝒂𝒎𝒐𝒖𝒏𝒕 = 𝑷 + 𝑰

𝑷 = $𝟐𝟎𝟎𝟎

𝑹 = 𝟓%

𝑻 = 𝟑 𝒚𝒆𝒂𝒓𝒔

𝑰 =
𝑷 𝑹 𝑻

𝟏𝟎𝟎

𝑰 =
𝟐𝟎𝟎𝟎 × 𝟓 × 𝟑

𝟏𝟎𝟎

𝑰 = $ 𝟑𝟎𝟎

𝒕𝒐𝒕𝒂𝒍 𝒂𝒎𝒐𝒖𝒏𝒕 = 𝑷 + 𝑰

𝒕𝒐𝒕𝒂𝒍 𝒂𝒎𝒐𝒖𝒏𝒕 = 𝟐𝟎𝟎𝟎 + 𝟑𝟎𝟎

𝒕𝒐𝒕𝒂𝒍 𝒂𝒎𝒐𝒖𝒏𝒕 = $ 𝟐𝟑𝟎𝟎



𝑺𝒊𝒎𝒑𝒍𝒆 𝑰𝒏𝒕𝒆𝒓𝒆𝒔𝒕

𝒔𝒊𝒎𝒑𝒍𝒆 𝒊𝒏𝒕𝒆𝒓𝒆𝒔𝒕 =
𝑷𝒓𝒊𝒏𝒄𝒊𝒑𝒂𝒍 × 𝑹𝒂𝒕𝒆 × 𝑻𝒊𝒎𝒆

𝟏𝟎𝟎
𝑶𝑹

𝑩𝒆𝒓𝒕𝒉𝒂 𝒅𝒆𝒑𝒐𝒔𝒊𝒕𝒆𝒅 $𝟏𝟎𝟎𝟎 𝒊𝒏𝒕𝒐 𝒂 𝒓𝒆𝒕𝒊𝒓𝒆𝒎𝒆𝒏𝒕 𝒂𝒄𝒄𝒐𝒖𝒏𝒕 𝒘𝒉𝒆𝒏 𝒔𝒉𝒆 𝒘𝒂𝒔 𝟏𝟖.𝑯𝒐𝒘𝒎𝒖𝒄𝒉 𝒘𝒊𝒍𝒍
𝑩𝒆𝒓𝒕𝒉𝒂 𝒉𝒂𝒗𝒆 𝒊𝒏 𝒕𝒉𝒊𝒔 𝒂𝒄𝒄𝒐𝒖𝒏𝒕 𝒂𝒇𝒕𝒆𝒓 𝟓𝟎 𝒚𝒆𝒂𝒓𝒔 𝒂𝒕 𝒂 𝒚𝒆𝒂𝒓𝒍𝒚 𝒔𝒊𝒎𝒑𝒍𝒆 𝒊𝒏𝒕𝒆𝒓𝒆𝒔𝒕 𝒓𝒂𝒕𝒆 𝒐𝒇 𝟕. 𝟓%?

𝒕𝒐𝒕𝒂𝒍 𝒂𝒎𝒐𝒖𝒏𝒕 = 𝒑𝒓𝒊𝒏𝒄𝒊𝒑𝒂𝒍 + 𝒊𝒏𝒕𝒆𝒓𝒆𝒔𝒕 𝑶𝑹 𝒕𝒐𝒕𝒂𝒍 𝒂𝒎𝒐𝒖𝒏𝒕 = 𝑷 + 𝑰

𝑷 = $ 𝟏𝟎𝟎𝟎

𝑹 = 𝟕. 𝟓 %

𝑻 = 𝟓𝟎 𝒚𝒆𝒂𝒓𝒔

𝑰 =
𝑷 𝑹 𝑻

𝟏𝟎𝟎

𝑰 =
𝟏𝟎𝟎𝟎 × 𝟕. 𝟓 × 𝟓𝟎

𝟏𝟎𝟎

𝑰 = $ 𝟑𝟕𝟓𝟎

𝒕𝒐𝒕𝒂𝒍 𝒂𝒎𝒐𝒖𝒏𝒕 = 𝑷 + 𝑰

𝒕𝒐𝒕𝒂𝒍 𝒂𝒎𝒐𝒖𝒏𝒕 = 𝟏𝟎𝟎𝟎 + 𝟑𝟕𝟓𝟎

𝒕𝒐𝒕𝒂𝒍 𝒂𝒎𝒐𝒖𝒏𝒕 = $ 𝟒𝟕𝟓𝟎



𝑺𝒊𝒎𝒑𝒍𝒆 𝑰𝒏𝒕𝒆𝒓𝒆𝒔𝒕

𝑰𝒇 𝒚𝒐𝒖 𝒊𝒏𝒗𝒆𝒔𝒕𝒆𝒅 $𝟐𝟎𝟎 𝒊𝒏 𝒂𝒏 𝒂𝒄𝒄𝒐𝒖𝒏𝒕 𝒕𝒉𝒂𝒕 𝒑𝒂𝒊𝒅 𝒔𝒊𝒎𝒑𝒍𝒆 𝒊𝒏𝒕𝒆𝒓𝒆𝒔𝒕, 𝒇𝒊𝒏𝒅 𝒉𝒐𝒘 𝒍𝒐𝒏𝒈 𝒚𝒐𝒖’𝒅 𝒏𝒆𝒆𝒅 𝒕𝒐
𝒍𝒆𝒂𝒗𝒆 𝒊𝒕 𝒊𝒏 𝒂𝒕 𝟒% 𝒊𝒏𝒕𝒆𝒓𝒆𝒔𝒕 𝒕𝒐 𝒎𝒂𝒌𝒆 $𝟏𝟎. 𝟎𝟎.

𝑷 = $ 𝟐𝟎𝟎

𝑹 = 𝟒%

𝑰 = $ 𝟏𝟎

𝑻 = 𝑻 𝒚𝒆𝒂𝒓𝒔

𝑰 =
𝑷 𝑹 𝑻

𝟏𝟎𝟎

𝟏𝟎 =
𝟐𝟎𝟎 × 𝟒 × 𝑻

𝟏𝟎𝟎

𝟏𝟎 × 𝟏𝟎𝟎 = 𝟖𝟎𝟎𝑻

𝟏𝟎𝟎𝟎 = 𝟖𝟎𝟎𝑻

𝑻 =
𝟏𝟎𝟎𝟎

𝟖𝟎𝟎

𝑻 = 𝟏. 𝟐𝟓 𝒚𝒆𝒂𝒓𝒔



𝑺𝒊𝒎𝒑𝒍𝒆 𝑰𝒏𝒕𝒆𝒓𝒆𝒔𝒕

𝑴𝒓. 𝑱𝒐𝒉𝒏𝒔𝒐𝒏 𝒃𝒐𝒓𝒓𝒐𝒘𝒆𝒅 $𝑷 𝒇𝒐𝒓 𝟒 𝒚𝒆𝒂𝒓𝒔 𝒕𝒐𝒎𝒂𝒌𝒆 𝒉𝒐𝒎𝒆 𝒊𝒎𝒑𝒓𝒐𝒗𝒆𝒎𝒆𝒏𝒕𝒔. 𝑰𝒇 𝒉𝒆 𝒓𝒆𝒑𝒂𝒊𝒅 𝒊𝒏𝒕𝒆𝒓𝒆𝒔𝒕 𝒐𝒇
$𝟐𝟑𝟐𝟎, 𝒂𝒕 𝟕. 𝟐𝟓% 𝒊𝒏𝒕𝒆𝒓𝒆𝒔𝒕 𝒓𝒂𝒕𝒆. 𝑭𝒊𝒏𝒅 𝒕𝒉𝒆 𝒗𝒂𝒍𝒖𝒆 𝒐𝒇 𝑷 ?

𝑷 = $ 𝑷

𝑹 = 𝟕. 𝟐𝟓%

𝑰 = $ 𝟐𝟑𝟐𝟎

𝑻 = 𝟒 𝒚𝒆𝒂𝒓𝒔

𝑰 =
𝑷 𝑹 𝑻

𝟏𝟎𝟎

𝟐𝟑𝟐𝟎 =
𝑷 × 𝟕. 𝟐𝟓 × 𝟒

𝟏𝟎𝟎

𝟐𝟑𝟐𝟎 × 𝟏𝟎𝟎 = 𝟐𝟗 𝑷

𝟐𝟑𝟐𝟎𝟎𝟎 = 𝟐𝟗𝑷

𝑷 =
𝟐𝟑𝟐𝟎𝟎𝟎

𝟐𝟗

𝑻 = $ 𝟖𝟎𝟎𝟎



𝑺𝒊𝒎𝒑𝒍𝒆 𝑰𝒏𝒕𝒆𝒓𝒆𝒔𝒕

𝑻𝑱 𝒊𝒏𝒗𝒆𝒔𝒕𝒆𝒅 $𝟒𝟎𝟎𝟎 𝒊𝒏 𝒂 𝒃𝒐𝒏𝒅 𝒂𝒕 𝒂 𝒚𝒆𝒂𝒓𝒍𝒚 𝒓𝒂𝒕𝒆 𝒐𝒇 𝑹%.𝑯𝒆 𝒆𝒂𝒓𝒏𝒆𝒅 $𝟐𝟎𝟎 𝒊𝒏 𝒊𝒏𝒕𝒆𝒓𝒆𝒔𝒕 𝒊𝒏 𝟐. 𝟓 𝒚𝒆𝒂𝒓𝒔.
𝑾𝒉𝒂𝒕 𝒘𝒊𝒍𝒍 𝒃𝒆 𝒉𝒊𝒔 𝒓𝒂𝒕𝒆?

𝑷 = $ 𝟒𝟎𝟎𝟎

𝑹 = 𝑹%

𝑰 = $ 𝟐𝟎𝟎

𝑻 = 𝟐. 𝟓 𝒚𝒆𝒂𝒓𝒔

𝑰 =
𝑷 𝑹 𝑻

𝟏𝟎𝟎

𝟐𝟎𝟎 =
𝟒𝟎𝟎𝟎 × 𝑹 × 𝟐. 𝟓

𝟏𝟎𝟎

𝟐𝟎𝟎 × 𝟏𝟎𝟎 = 𝟏𝟎𝟎𝟎𝟎𝑹

𝟐𝟎𝟎𝟎𝟎 = 𝟏𝟎𝟎𝟎𝟎𝑹

𝑷 =
𝟐𝟎𝟎𝟎𝟎

𝟏𝟎𝟎𝟎𝟎

𝑻 = 𝟐%



𝑪𝒐𝒎𝒑𝒐𝒖𝒏𝒅 𝑰𝒏𝒕𝒆𝒓𝒆𝒔𝒕

𝒄𝒐𝒎𝒑𝒐𝒖𝒏𝒅 𝒊𝒏𝒕𝒆𝒓𝒆𝒔𝒕 = 𝑷 𝟏 +
𝒓

𝟏𝟎𝟎

𝒕

𝑶𝑹 𝑨 = 𝑷 𝟏 +
𝒓

𝟏𝟎𝟎

𝒕

𝑰 = 𝑨 − 𝑷

𝑫𝒂𝒗𝒊𝒅 𝒊𝒏𝒗𝒆𝒔𝒕𝒆𝒅 $𝟏𝟖𝟎𝟎 𝒊𝒏 𝒂 𝒔𝒂𝒗𝒊𝒏𝒈𝒔 𝒂𝒄𝒄𝒐𝒖𝒏𝒕 𝒕𝒉𝒂𝒕 𝒑𝒂𝒚𝒔 𝟒. 𝟓% 𝒊𝒏𝒕𝒆𝒓𝒆𝒔𝒕 𝒄𝒐𝒎𝒑𝒐𝒖𝒏𝒅𝒆𝒅 𝒂𝒏𝒏𝒖𝒂𝒍𝒍𝒚.
𝑭𝒊𝒏𝒅 𝒕𝒉𝒆 𝒗𝒂𝒍𝒖𝒆 𝒐𝒇 𝒕𝒉𝒆 𝒊𝒏𝒗𝒆𝒔𝒕𝒎𝒆𝒏𝒕 𝒊𝒏 𝟏𝟐 𝒚𝒆𝒂𝒓𝒔.

𝑷 = $ 𝟏𝟖𝟎𝟎

𝑹 = 𝟒. 𝟓 %

𝑻 = 𝟏𝟐 𝒚𝒆𝒂𝒓𝒔

𝑨 = 𝑷 𝟏 +
𝒓

𝟏𝟎𝟎

𝒕

𝑨 = 𝟏𝟖𝟎𝟎 𝟏 +
𝟒. 𝟓

𝟏𝟎𝟎

𝟏𝟐

𝑨 = $ 𝟑𝟎𝟓𝟐. 𝟔



𝑪𝒐𝒎𝒑𝒐𝒖𝒏𝒅 𝑰𝒏𝒕𝒆𝒓𝒆𝒔𝒕

𝒄𝒐𝒎𝒑𝒐𝒖𝒏𝒅 𝒊𝒏𝒕𝒆𝒓𝒆𝒔𝒕 = 𝑷 𝟏 +
𝒓

𝟏𝟎𝟎

𝒕

𝑶𝑹 𝑨 = 𝑷 𝟏 +
𝒓

𝟏𝟎𝟎

𝒕

𝑰 = 𝑨 − 𝑷

𝑭𝒊𝒏𝒅 𝒕𝒉𝒆 𝒂𝒎𝒐𝒖𝒏𝒕 𝒕𝒉𝒂𝒕 𝒓𝒆𝒔𝒖𝒍𝒕𝒔 𝒇𝒓𝒐𝒎 $𝟓𝟎𝟎 𝒊𝒏𝒗𝒆𝒔𝒕𝒆𝒅 𝒂𝒕 𝟖% 𝒄𝒐𝒎𝒑𝒐𝒖𝒏𝒅𝒆𝒅 𝒂𝒇𝒕𝒆𝒓 𝒂 𝒑𝒆𝒓𝒊𝒐𝒅
𝒐𝒇 𝟐 𝒚𝒆𝒂𝒓𝒔.

𝑷 = $ 𝟓𝟎𝟎

𝑹 = 𝟖%

𝑻 = 𝟐 𝒚𝒆𝒂𝒓𝒔

𝑨 = 𝑷 𝟏 +
𝒓

𝟏𝟎𝟎

𝒕

𝑨 = 𝟓𝟎𝟎 𝟏 +
𝟖

𝟏𝟎𝟎

𝟐

𝑨 = $ 𝟓𝟖𝟑. 𝟐


